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Errata: 180105

Below is a list of corrections/typos found so far:

• p. 33, equation (2.55) should read

Rz,z =

[
Rx,x Rx,y

Ry,x Ry,y

]
• p. 39, the definition of ry(k) ≡ C {yt, yt−k} should not contain a ∗; see

the definition in (2.9). This problem also occurs in equations (3.6), (7.3),
(7.6), in the text just below (7.6), (7.16), and (7.20).

• p. 145, eq. (4.85) is missing a ∇. It should read: wt = A(z)∇xt.

• p. 223, eq. (6.2) should also contain an intercept c, i.e.,

ŷt+k|t =

n∑
`=0

w`yt−` + c

• p. 224, eq. (6.14) and (6.15) are missing minus signs. They should be

w2 = − ρy(1)

1− ρ2y(1)

ŷ3|y1,y2
= − c21

1 + c21 + c41
y1 −

c1 + c31
1 + c21 + c41

y2

• p. 301, eq. (8.148) is missing a minus sign. It should read:

Ct+2|t =
[
−ŷt+1|t −yt . . . −yt−4 0 et et−1

ut+2 ut+1 ut ut−2 ut−3
]

• p. 338, the first sentence in solution 4.4 should be: The process ∇sxt is
stationary with the autocovariance ry(τ).

• p. 340, â should be

â = D
{(

(
∑

t2k)s1 − (
∑

sktk)t1

)
y1 + . . .+

(
(
∑

t2k)sN − (
∑

sktk)tN

)
yN

}
• p. 359, Solution 7.2, to polynomial should be 1− 1.4z−1 + 0.76z−2.

• p. 369, Solution 8.8, the last two equations should read

Kt = Ptxt

(
xT
t Ptxt + σ2

e

)−1
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(
I−Ktx

T
t

)
Ptφ
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